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SAMPLE PAPER-34

Q301. Which of the following is used in welding broken pieces of iron rails and machine parts?

dilg T TeRAT 3R AT & T A T SAISTS Irar ATesaT 3 folest 7 & feohdent yiter faham Srelr 82

A.

Sol-

Aluminium sulphate/ U(W_I_’?ﬂﬁ?ilﬂ' Tethe

B. Solder/ ETehT ST3TAT
C.
D. None of the above/ 3URIFd H T aflé' el

Aluminium powder/ U@il_,?ﬂﬁ?l?f ?-l;U‘f

Aluminum powder is a highly flammable powder created by grinding aluminum into fine grains
of material.

In times past, this flammable metal powder was used in photography to create bright flashes
during a photographic session.

Today, aluminum powder is one of the tools utilized in various applications of pyrotechnics,
including the creation of fireworks displays.

Used primarily as an inlay compound, the aluminum powder can easily be used to set cut pieces
of wood into position and also fill in any tiny gaps that may be present at the joints.

Since only a minute amount of powder is necessary for functions of this type, the chances of
ignition are somewhat limited.

TeGfATATH 3T Ueh At saelalie U3t & TS TogfATags st a1lish rasne ara
& ®9 H 137 SATAT B |

37Tl #, 38 SacleT2iel U & UI3SY &I 3ANRT BRI # T BICTTThe: T & G
3oodd THH YT el o forv fonar Srar &)

3T, e faa ar3sT 3nfaererel & e & At afgd snfasrerst same & fagar &
TfeeT 3TToraNalt ¥ 3UZNT fohT STt aTel 3Uehivll & & Uah &

HET TG A Teh ST AMfaTeh o & & UGN T ST §, TG o1 qr3sT 1 39rer
3T & TehgT & e §U Thsl bl AT H e et & fort foham ST Fhe ¢ 3R st # Alolg
forel 87 B 3TcaTer &l 87 X AT & |

feh 38 Weh o 1l & TelT Shelel Teh TR I ATAT H GI38T I ATaRThT Bl o, SHTAT
Fodelel hl HeTTEeT e A GIcl 8|

Q302. Ball pen functions on the principle of
dfel Ot forares fAgyTd I R aXdl &

A.
B. Boyles Law/STZel &l T ey
C.

D. Surface tension /Hdg ddold

Sol-

Viscosity /RATAAT

Gravitational force /W@'UT ECI

The main principles for the working of the ballpoint pen are surface tension and capillary action.

dIeTAISe Yol o 1 el oh HEY TACHIT Helg! delrd 3R iR fohar |
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Q303. What are the organisms which feed on the wastes or dead bodies of other organisms such as mites
and earthworms called ?

9 Sl it 37 Sfat S gt 3R YU & HAfIse AT 7 QR AT TTd §, 797 Hg ol 67
A. Omnivores /HaTgRI

B. Decomposers / 3T98gCh

C. Carnivores /ﬂ'l'x‘l'l%'lﬂ'

D. Detritivores /3f¢feary

Sol-

An omnivore is an organism that eats plants and animals.

Decomposers are made up of the FBI (fungi, bacteria and invertebrates—worms and insects). They are all
living things that get energy by eating dead animals and plants and breaking down wastes of other
animals.

A carnivore is an organism that mostly eats meat, or the flesh of animals.

A detritivore is an organism that eats dead or decaying plants or animals as food. Detritivores include
microorganisms such as bacteria and larger organisms such as fungi, insects, worms, and some
crustaceans.

T gayel ueh Sha & o atert 3tk STerat A @rar gl

ShUIo THeI3TS (hdeh, SFCIRAT AR 3hATehl-his IR FIZ) Taa gl & | 3 Tl Shifaa dei & i
Hl SATeTert 3R Gt sl Trept AR 3 STeTaRt & e Sl ATgent Soll T il o |

HATETERT Ueh UHT ST § ST SATGTAR HATH AT SATeAaR] ol AT TTAT ¢
%Eﬁaﬁwﬁwﬁa%ﬁqamwﬁmﬁﬁ@mmaﬁma:mﬂm%‘l Detritivores 3
GeASd S8 SR 3R 93 Sid S8 shaeh, H1g, H19 3R Fo e Rg= anfdre g1

Q304. The bacterial cell wall consists of
SOy PRI RT3 g &

Cellulose /@W@H

Lignin /forfdeter

Mucopeptide /Filﬁef@sg
Pectose /daelsl

o0 w»

Sol-

Peptidoglycans (or mucopeptide or glycopeptide or murein) are the structural elements of almost
all bacterial cell walls.

e They constitute as much as 95% of the cell wall in some Gram positive bacteria to as little as 5 to
10% in Gram negative bacteria. Peptidoglycans are made up of a polysaccharide backbone
consisting of alternating muramic acid and glucose amine residues in equal amounts.

o UCESTASHd (IT FYHIITISS AT TATSHIUCCISS AT FYRT) ST Gl Saro] hIfRIhT
AR & GATcHS dea &1
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d %0 AH diifed SFERATH Aol I AR T 95% R ATH AhRTcHD SFIRTTH 5 & 10%
Tk T ITST A g |

QTSI ellSehed Teh Ul eSS 3G I 5331 W §1 Gl & Torde II-aRT ¥ #FUA Uiis
AR TIehIST TATSST 37aRIY HATT AT H 8 & |

Q305. The sound of same pitch and loudness are "distinguished from one another by their

T &1 R 3R SR Y JTaTST "3 GaRT U gAR H T @il §

A.
B

C.
D

Sol-

Wavelengths /a7 &

. Velocity /a3T

Quality /3[OTerT

. Tones /&FAT

The characteristic of sound by which we can distinguish between two sounds of the same loudness and

pitch is

known as Quality. It is also known as timbre.

tafel T ag faAvdr foaes anrt &7 Teh &1 Uarelar 3R g & e eafaal o i 3iak T dhd &,
T[OTAT e ellell & | T TeFaR & A @ & ST ST & |

Loudness Pitch

Loudness is the property of sound
by virtue of which a loud sound Pitch is that characteristic of sound by which a
can be distinguished from a faint one shrill sound can be distinguished from a grave or

a flat sound

It depends on the amount of sound energy received Pitch is independent of the amount of energy

by the ear in unit time-more the energy received received by the ear

louder is the sound

It changes with the changes in frequency Hight

Loudness does not change with the change in frequency sound produces the shrill sound

frequency

Q306. Gravitational force is essentially required for

T&cdTehY 0T §eT IR &9 & 32T &

S0 w p

Sol-

Stirring in liquid /el H geTdel
Convection/ Ha%?f

Conduction /9dTgehtd
Radiation /fafeor

As temperature increases fluid portions become light and move upwards, heavy and more dense
fluid portions move downward. So, up and down movement of particles takes place; this depends
on the weight and gravity. Thus the presence of a gravitational field is required in the heat
transfer through natural convection.

S-S YA ST & 59 & BEY g 8l AT & 3R I A 3 Tea &, 97 3 310w vo
TRl HT9T A Y 3T Foa &1 Y, ot i F9T 3R =y i a1fay @i & a8 ot 3
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TRcdThYUT I f#IR Yl & | $H FehR WThicieh Hage o HAICTH & I §EcAicoT &
T&cdTehYUT &1 chl SUTEATC T ARl gl & |

Q307. An electron move with velocity v in a uniform magnetic field B. The magnetic force experienced
by the electron is

Teh SoIohelel U AT Yoehid &1 B & 49T v o A1 Tt Sl § | Selohelel GanT ieTe7d fohar ardm
ECLiEECE

A. always zero /GHIT [T

B. Never zero /&Y R Ter

C. zeroif'v is perpendicular to B Rl g v, Bh dledd g

D. zeroif v is parallel to B /‘\’]3-7[ gfe v, B & W%’

Sol-
e Velocity is parallel to magnetic field
By using the formula of force experienced by moving charge in uniform magnetic field :

F=q(VxB)
e F=qVBsinf
e velocity is parallel to magnetic field so,
e sinf=0°=0
e Now the force will also be 0
o T YhIY &1 & AR &
o UHTATT dehld & H ITIATA 1AL SART T FhT 1T T oh T T STANT Fleh:
F=q(VxB)
e F=qVBsinf
o I IR 8T & FAAIK ¢, ST,
e sinf=0°=0
o ITTAMEEO

Q308. Tricuspid valve is present in

CIShATIS aled Hislg 8T &
A. right atria and right ventricle /T 37eRAT 3R graT dfgerer
B. left atria and left ventricle /a7 33T 3R arar aﬁw
C. wall of atrium /37feig r fafT

D. wall of ventricle /faverr & fAR

Sol-
e The tricuspid valve, or right atrioventricular valve, is on the right dorsal side of the mammalian
heart, at the superior portion of the right ventricle.

o T3S dled, AT T UigAIdfhor dled, &0 dighd & U fEd #, Ta-al ged
arfget S8 1T T EIT & |
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Superior |
vena cava "

Pulmonary

Tricuspid |
valve

Inferior vena cava ™ Pericardium

Q309. Gelatin is mostly used in making ice-creams in order to

ForaIfaT T SRIST JHTRIHeraT: ST & FvaioT # favam e & s -

A. Prevent making a colloid/ Shfelel Sefel T T 1T Tch |

B. Stabilise the colloid and prevent crystallisation/ hferel sl TR fohaT ST Teh 3R foheceitanoT
T T ST Th |
Stabilise mixture/ TFS10T sT fEAR fohaT ST T |

D. Enrich the aroma/ {:Ia?T?-T &I EFRIRSI T+ |

Sol-

e QGelatin prevents crystallisation means Gelatin absorbs free water in the ice cream and prevents
the formation of large crystals so we get a thick taste of ice cream rather than the watery taste. So
Gelatin is added in the manufacture of ice cream in order to stabilise the colloid and prevent
crystallization.

o TSRS ThEeolientor &l Aol § 31aTdl Torelfeet HTSHshIA # FHerd UTel ol 3NN T g
3R 93 fohred & T8 &Y AhdT & STTAT §H UTAT & TATE, & Tl ST IH T ST TITS
T &1 ST FIaTss &l 8 et R FohecalianiuT I kel o ToIT ITSThHIA & fATOT
H foraifest emar Srar g

O

Q310. Two elements which can form a large number of compounds are
o) ciea i 2 T 3 v F RO A EES & -

A. Carbon and Hydrogen/ e 3R HEESD!

B. Carbon and Nitrogen/ COCD 3R Ao

C. Carbon and Oxygen/ e 3R TSI

D. Carbon and Sulphur/ e IR T

Sol-
e The carbon-hydrogen bond (C-H bond) is a bond between carbon and hydrogen atoms that can be
found in many organic compounds. Compound classes consisting solely of C-H bonds and C-C
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bonds are alkanes, alkenes, alkynes, and aromatic hydrocarbons. Collectively they are known as
hydrocarbons.

o FIEA-GISZIoTe Siel (HI-TH SEIeT) HTeleT 3R ETSZIoTal TWATILT o o<l Teh SEieT § Wil g
shreifeieh FHFTehT & TTT ST Fehll §| harel -UH sies AR Al dies & I Fifaren a9
3o, 3Tehed, Aehlad IR WARS grsgire § | TS T J 378 gTsghe & ¥
H ST ST Bl

Q311. What is the far point for normal human eyes?

AT HATeTd 3@l & fow g foig 2 g?
A. 25Cm
B. 50 Cm
C. 75Cm

D. Infinity /37ddr

Sol-

The near point of the eye is the minimum distance of the object from the eye, which can be seen distinctly
without strain. For a normal human eye, this distance is 25 cm.

The far point of the eye is the maximum distance to which the eye can see the objects clearly. The far
point of the normal human eye is infinity.

311 1 foiehe foig 3@ & a&] 1 =GeTa# gl &, TS T4 oeira & TIse &9 § @1 511 Fohell §| Teh
AT AT 37@ & o I8 gy 25 J @ &
311G 1 &Y g a8 3ifehaa gl & STad 311w a3t &l TUv &9 @ ST Tehll § | AT Al 31T
o1 &Y Toig 3T B |
Q312. An alloy which does not contain copper is
ve R arg foree afer 7t grar @
A. Magnalium /H3TTToIH
Bronze /T

Brass /dTdel
German Silver /STH« f&eaT

O 0w

Sol-

Magnalium: Al, Mg, Ni

Brass: Cu, Zn

German Silver:Copper (Cu), Zinc (Zn) and Nickel (Ni)
Bronze: Copper (Cu) and Tin (Sn)

Hearforae: 37T, THST, AT

e dIddl: Cu, Zn

o IHA fedT: FIW (Cu), 5 (Zn) 3R A¥her (Ni)
o FHET: FIW (Cu) 3R T (Sn)

Q313. The general formula of Alkanes is-
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Ueshed T AHT H &-
A. CHan
B. CiaHone
c. CuHano
D. Cn+2H2n
Sol-
In other words, an alkane consists of hydrogen and carbon atoms arranged in a tree structure in which all
the carbon—carbon bonds are single. Alkanes have the general chemical formula C,Han+».

GE 2scl H, Teh Toehel H gTS3I0TeT X hislal TRATI] &1dt © ST Ueh U5 T TTAT H eJa AT 8 &
TS aa |3 HIeTeT-FTee §EeT Tehel Bl & | Toehedl ohl HIH T Toeh G CoH 2012 BIT B |

No. of C Name of Molecular | Name of Formula

atoms alkane formula alkyl group

1 Methane | CH, Methyl -CH,

2 Ethane C,Hg Ethyl -C,Hs

3 Propane CsHg Propyl -C;H;

4 Butane CsHyo Butyl -C4Hq

5 Pentane CsHys Pentyl -CsHy,y

6 Hexane CeHys Hexyl -CeHys

7 Heptane CHyg Heptyl -C,Hys

8 Octane CgHyg Octyl -CgHy5

9 Nonane CoHyo Nonyl -CoHyg

10 Decane CioH3; Decyl -CyoHy;

Q314. Which element has the smallest first ionization energy?

fhg dcd Y TUH 3T Foil oI ST &2
Mg

Al

Si

p

cawp

Sol-

Ionization energy, also called ionization potential, is the amount of energy required to remove an

electron from an isolated atom or molecule.

e |t takes a considerable amount of energy, for example, to remove an electron from a neutral
fluorine atom to form a positively charged ion. F(g) F+(g) + e- Ho = 1681.0 kJ/mol.

e Along the period IE increases but Mg has higher IE than Al because Mg has stable fully filled 3s

orbitals whereas Al has one electron in 3p orbital.

o JTIAIHRIOT Sotr, Tl ITIATROT ST $1 T ST &, Ueh JUeh TRAT] AT 30] & Teh
Solareis] ol ToahTelal o foIT 3TTaTH Fail ST AT & |

e 3CTE0T & [T, Ueh HhRIcHS TTol A Tollel & Tl TEEY FeARled AT § Teh Selorelel
BT §CTeY H FHIHT FATAT H Foil oI9TdT § | TH(SHT) TH+(ST) + 5-8T = 1681.0 FHor/AT |
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o 37gc & WY IE TGl ¢ elfehel Mg H Al § 3T&eh [E §lclT ¢ Fifeh Mg A TR ®T @ QUT &0 &
Y EU 35 HeTeh BId ¢ STaiieh Al H 3p HafT H Teh Solorglel glel ¢ |

lonization Energy Trend in Periodic Table

lonization energy increases

1 He
2 13 14 15 16 17 Helium
4 5 6 7 8 9 10
2 Be B C N (o] F Ne
Beryllium Boron bon Nitroge Oxyger Fluorine Neon
12 13 14 15 16 17 18
3 Mg Al Si P S Cl Ar
Magnesium| 3 4 5 6 7 8 9 10 11 12 Silicon Sulfur Chlorine Argon
20 22 23 24 25 26 27 28 29 30, EX) 32 33 34 35 36
Ca Sc Ti v Cr | Mn|| Fe [ Co || Ni || Cu || Zn | Ga | Ge | As | Se || Br | Kr
Calcium Scandium Titanium || Vanadium || C! Iron Cobalt Nickel Copper. Zinc Gallium Arsenic Selenium Bromine Krypton

38 39 40 41 42 43 44 45 46 47 48 49 50 51 52 53 54
Sr | Y || Zr | Nb | Mo | Tc [ Ru | Rh || Pd| Ag| Cd | In | Sn | Sb | Te I | Xe

steontium || Yetrium || Zirconium || Niobium [ H&Y5 Rhodium || Palladium || sitver | cadmium || indium Tin || Antimony || Telturium || lodine || xenon

w

558 a 57-7*1 72Hf 731.a 74w 75Re 7Sos 77Ir 78Pt 79Au OOHg 811_' BZP b 838 i B‘Po !SAt 36R o

Barium Hafoium | Tantalum [ Tungsten || Rhenium || Osmium [ iridium |f Platinum Gold Mercury || Thallium Lead Bismuth || Polonium | Astatine | Radon

o

I

104R 1osDb 1ossg mBh maHs "”Mt "oDS ";B“ |1zcn mNh ‘Fl ”sMC nva 1171_s nsog

fordiam || Dubnium Bohrium || Hassium s ||| e Nihonium || Flerovium Tennessine || 0ganesson

Lanthanide Series® 6 64 Er Tm Yb Lu
Cerium d;:\ileom Samarium || Eure Dl m Terblum Holmium Erbium Thulium Ytterblum Lutetium
Ac'lnlde sertes ” ..--.---..---..

Q315. The high density of water compared to ice is due to -
St &Y JeTolT 7 STel T 3T Hafed fohdeh HIROT FIaT & -

A. Hydrogen bond interaction /gTS3IoTel §13 SCF2U

B. Dipole-dipole interaction Eﬁg-qﬁzr -a[%?,orqﬁ'cr 3ia:ferar

C. Dipole - induced dipole interaction /E[%%T:n'q AR aj%?géﬁ?:r 3ia:fepar

D. Induced dipole - induced dipole interaction /AT aﬁgaﬁu-ﬁﬁ?r aﬁ%@? 3ia:fepar

~

lonization energy increases

Sol-

Water when present as liquid has intermolecular hydrogen bonding with 3-4 other molecules
whereas in ice, the molecules arrange themselves in a cage like structure by hydrogen bonding
hence density of ice becomes less than water as in ice due to cage like structure the volume
increases and hence density decreases.

o Ul STd Tl & &9 & HISlg T & ol 3-4 3= HUL3T oh WY SRANTAFIoR §TSgIoted sliesal
BT & STafh ath 7 0] ETSSIaTeT SifesaT GaT e &1 Uah i St Hvartr 7 caafeud #va
&, AT % &7 Gelcd Uil & S 81 ST & FAiTh TR SbY TIAT 3 HRUT b T Telcd
g¢ ST &1 3R safoT gdca FA T ST

Q316. Meena visited a natural gas compressing unit and found that the gas can be liquefied under specific
conditions of temperature and pressure while sharing her experience with friends she got confused. Help
her to identify the correct set of conditions.
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HIAT o Teh YTepfcreh 36 HiSeT Sehrs T AT foham 3R 1T o 3 oht TaaATeT 31 gara b fafrse
qﬁﬁaﬁﬁﬁaﬂﬂgﬁmmm%mﬁa@maﬁaﬁﬁ%mummgcagmsﬁél
EATY & TET A T TgaTeT et & 3T A |

Low temperature, Low pressure [ argHA, [+ ea1g

High temperature, Low pressure /3Td cTqHTeT, fo¥et gaTa
Low temperature, High pressure /feie=T dT9&Te, 3T gard
High temperature, High pressure /3©d dIYHTe, 3Td G&Td

o0 w»

Sol-
Now in this case; to liquefy a gas under specific conditions of term she has to lower the temperature and
thus increase the pressure.

319 3 AT H; 3t &1 faferse aREufaat & 3 & gfaa e & T 38 arga T S HLar g8
& 3R 39 YR ga1a Jer=T Usar &

Q317. A rubber ball filled with water is having a small hole. This is used as the bob of a simple
pendulum. Then, the period of such a pendulum

qleil & #) ISR T 3T H Ueh BICT AT BG, ¢ | ST YT Teh ATYRUT Glcolel oh ITeleh o &9 H fohdT
ST & | T, U arefeT ot 31afer

Decreases /fo1o<T 81 ST &

First increases then decreases /Q%?T dodrl % T gear %

First decreases then increases /Q?@I' ycdr %} Y dadl %’

Increases /d6ar %’

o0 w >

Sol-
The bob changes so length of the pendulum varies such that time period first increases and then decreases.

IMeTeh ST SColdT ¢ 1o dloleh Sl odTS 39 YR deold & o THT 3791 Ugel dadr & i R gedr
gl

Q318. A powerful eye irritant present in smog is
&er 7 Fis[e Teh Aol 717 Seisleh & -

A. nitric oxide/ sTT8fe 31\i°H-II$S

. sulphur dioxide/ W SBIHTFATSS

B
C. peroxyacetyl nitrate / TRIFATSECIT S ATSCT
D

. carbon dioxide/ FTe SBIHTFATSS

Sol-
Peroxyacetyl nitrate causes irritation in the eyes and is thermally unstable and releases nitrogen dioxide as
one of its products

RIFATS T ATS¢C @T 7 STefeT YaT ldl ¢ 3R a7el T I 3R gIar g IR 30 e 7 &
Ush & &9 H ATSCIol SS3HTFHISS BISdT g

Q319. The particle required to continue the chain process of Uranium fission is :
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QUG Ta@s S H@el Fihar i ST W & TIT 12T HUT g -

A. Electron/ sﬁa—ﬁ?r
B. Proton/ 9Telet

C. Neutron/ o-?ch\E:Fl

D. Positron/ tlvTﬁ?jﬂ'

Sol-

The particle required to continue the chain process of Uranium fission is the neutron.
A neutron was discovered by James Chadwick.

The charge on neutron is zero.

A neutron is obtained from the radioactivity phenomenon.

It has zero charges and mass equal to 1.674 x 10" kg or 1.00867 u.

It is present inside the nucleus. Its antiparticle is antineutrino.

QUG faws S H@ell Fishar i ST W= & TIT 3HTaege H0T=ggi ¢ |
o YgieT T Wt SNy Ysfaes o dr 2|

o TYglel YT AU YA BIT &

o YfSfHar aftaesr & ve Fgie ured g § |

o THHT YT AL AR GSTATT 1.674 x 1027 fhaIm AT 1.00867 u o SRR T

o IE AT & 37eT HiS[G gicT & | FHPT CIUTiCehel Tl gfeal g

Q320. Bakelite is a copolymer of Phenol and

Jeherse fthater 3R T TE-TETh & 2

Formaldehyde/ BIHITSEISS

Acetaldehyde/ Umﬁ?{s'

Benzaldehyde/ SoTe 8183
Cinnamaldehyde/ ﬁﬁﬁ?sﬁmég

Sol-

Bakelite is an early plastic. It is a thermosetting phenol formaldehyde resin, formed from a condensation
reaction of phenol with formaldehyde. Bakelite monomer is phenol and formaldehyde.

JFheaTse U URAS TollfEes §1 T8 Teh URTATET fhaltel BhiesgTss Tl &, St BlEcISess & a1y
fRairer 1 Fetaor ufafehar & ST & | Shase AR fhate 3R BiAEeEs gl

caw >




